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1[%EH BieF HEGC 38 33 71 1| ER = EDEGR 38 42 80 9.6 704
2|=E BE WD E 37 39 76 2|8 E EiET EDHEGR 41 49 90 18.0 72.0
[ LB FEF Evolvin 41 39 80 3|4H B F HEGC 38 33 71 1.2 72.2
A ER E EDHGR 38 42 80 AR BBEE FmGC 43 39 82 9.6 724
SR BAE & FMmGC 43 39 82 hl=d BE D H 37 39 76 24 73.6
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] R EDHEGR 41 49 90 S INFDSES FmGC 50 42 92 16.8] 75.2
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10[FAF BF EDHGR 44 48 92 10|72 AF BT EDHGR 44 48 92 14.4) 77.6
111E EDHGR 48 46 94 11|88/ & Evolvin 53 50 103 25.21 77.8
12| KA ERTF EDHEGR 46 49 95 12|BR = HHEGC 48 48 96| 18.0 78.0
BIER E=7F HHEGC 48 48 96 13| 5k &= F) EDEGR 57 57 1141 36.01 78.0
14| BE%y 517 EDHGR 48 52 100 14|1K1B 1EF EDHEGR 59 54 113 34.8 78.2
15(8FA = Evolvin 53 50 103 15|35 = EFDHGR 42 46 88 9.6 78.4
16|/EF &F EDHGR 55 51 106 16[BZ REF EDHEGR 48 46 94 15.6 78.4
17(tkE == BEiHG G 55 53 108 17|88y =517 EDHEGR 48 52 100 20.4| 79.6
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